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(generalized linear model; GLM)
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EECECEEEEEEEEEEEEE R

log.x000O0OOO
d$log.x <- log(d$x)

0000 data.frame “d” —
> load("d.RData") >

> head(d) # OO 6 ODOJOO > head(d)
Xy Xy log.x
1 0.66762 O 1 0.66762 0 -0.40404
2 0.85077 O 2 0.85077 0 -0.16162
3 0.68124 O 3 0.68124 0 -0.38384
4 0.14379 1 4 0.14379 1 -1.93939
5 0.25316 1 5 0.25316 1 -1.37374
6 0.88585 0 6 0.88585 0 -0.12121
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glm()

faRZI8MNT 52T b EFI R

Fit)<- (gimX BT mwstmois
Vv ~ 10g.%X;
family = poilssion(link = "log")
data = d

)
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> fit <- glm(y ~ log.x, data = d, family = poisson)
> print (summary(fit))

Call:
glm(formula = y ~ log.x, family = poisson, data = d)
(...0...0
Coefficients:

Estimate Std. Error z value Pr(>|z]|)
(Intercept) -0.115 0.204 -0.56 0.573
log.x 0.476 0.222 2.14 0.032
(...0...)

Coefficients 1000000000000
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